SPARE PARTS LIST

MODEL NO. 9227CB

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
001 539168-0 SUPPORT ASS'Y 1
002 634293-3 Allérész 220/240V 9227CB* 1
003 416253-5 Légterelo lap 9227CB* 1
004 211031-6 #Goly6scsapagy 608LLB 1
005 681644-1 Szigetelt Alatét 681644-1 1
006 516308-7 Forgorész 220/240V 9227CB 1

INC. 4,5,7
007  240002-6 FAN 70
008 285687-1 Csapéagyfedél 48 9227CB
009 211106-1  Golyéscsapagy 6201LLB 211106-1

010 961052-5 Seeger-gyuru S-12 961052-5
011 266012-5 Onmetszo csavar M5x35*

012 266171-5 Imbuszcsavar M8x25 266171-5
013 416348-4 LOOP HANDLE

014 415491-6 Sapka 9521NB/9522NB/9227CB

015 233072-2 Nyomorugo 8 9541/9542/9227C*

016 911221-8 Trapézfeju csavar M5x16 911221
017 911211-1 Trapézfeju csavar M5x12 911211
018 159951-5 Fogaskerékhaz, komplett 9227CB
019 256504-2 Csapszeg 9227CB

020 816330-7 Jelzocimke 9227CM

021  266038-7 Onmetszo csavar M5x70*
022 688110-9 Magneshively 9227CB
023 961012-7 Zéarégyuru E-6 961012-7
024  255058-6 Csapszegecs 2 9227CB*

025 233002-3 Nyomérugé 3 T1022DW/9227CB*

026  645200-1 Zajszuro kondenzator 645200-1*

027 182917-0 Kapcsoléhaz (jobbos + balos) 9
INC. 47

R R RRPRRPRRPRNRRPRPRRPRPRERRERRELNMANRRRR

028 666216-3 POWER SUPPLY CORD 1.5-2-2.5 1
029 682503-2 #Kabelvédo 8-90* 1
030 687063-9 Kéabel-fesziltségmentesito 6870 1
031 265995-6 Onmetszo csavar M4x18* 2
032 651282-3 Kapcsolé 9227CB 1
033 631227-7 Szabdalyozé elektronika 200-250 1
034 271417-6 Beallité tarcsa 9227CB 1
035 182918-8 Motorhaz-garnitdra 9227CB (ben 1
INC. 20,39
036 858696-9 NAME PLATE 9227CB 1
037 191963-2 Szénkefe CB-303* 1
038 643750-0 Szénkefetartd-sapka 643750-0* 2
039 819001-5 MAKITA cimke 2
040 227512-0 Tanyérkerék 9227CB 1
041 962151-6 Seeger-gyuru R-32 962151-6* 1
042 211106-1 Golyéscsapagy 6201LLB 211106-1 1
043 316896-2 Csapéagyhaz 9227CB 1
044  266034-5 Onmetszo csavar M4x16* 4
045 152551-0 Tengely M14x2, komplett 9227CB 1
046  743053-3 Csiszol6korong 165 9227CB* 1
047 182917-0 Kapcsoléhaz (jobbos + balos) 9 1
INC. 27
048  265995-6 Onmetszo csavar M4x18* 4
AO1 783204-6 HEX. WRENCH 6 1
A02 262542-4 Hively 18 9227CB 1
A03  192629-7 WOOL PAD 180 SET 1
EO1 646077-7 Kondenzator (fojtétekercs) 922 1




SERVICE DRAWING

PAGE 1

MODEL NO. 9227CB




